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A ZAIEHI D
M N DAY
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 377,000
401 AIEHIX 20 2,637,000 0 2,637,000
[ 2,260,000
= 377,000
01 AlZ8| 2,631,400 0 2,631,400
OHTAA AN =S ALY 2,631,400
[ 2,255,200
= 376,200
03 Al 2CHYI 5,600 0 5,600
OHTAA TAINY =AY 5,600
= 4,800
& 800
SN TAITHY 7E AL 2,313,000 3,389,000 /1,076,000
[ 750,000
= 126,000
Al 1,437,000
201 er23| 7,000 5,000 2,000
01 AtR2t2|HI 5,000 4,000 1,000
OXF=ANA TAITHY =LA 5,000
02 S3=gHl 2,000 1,000 1,000
OXF=ANA TAITHY =LA 2,000
307 212+01& 230,000 200,000 30,000
05 2ItRIE = 230,000 0 230,000
OXFANA SAITHA =LA 230,000
401 Al HIZ 2018 2,076,000 3,184,000 1,108,000
= 750,000
[ 126,000
Al 1,200,000
01 Al&HI 2,072,500 3,179,393 1,106,893
OXFANA TAITHA LAY 2,072,500
= 747,000
== 125,500
Al 1,200,000
03 Al 20HHI 3,500 4,607 A1,107
OXFANA TAITHAY =LA 3,500
= 3,000
== 500
= SEFINE ZEAE 500,000 0 500,000
= 500,000
401 Al HIZL 201 500,000 0 500,000
= 500,000
01 AlZ28| 500,000 0 500,000




2A:

S AIZEHI

M N DAY
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdFY SEFIE gAML 500,000
= 500,000
CAHYE HES2H 29 L 2el 80,000 66,000 14,000
201 =3 55,000 46,000 9,000
01 At2t2ltl 15,000 10,000 5,000
OZAINY HES2H 22|t 15,000
2 s5=34l 40,000 36,000 4,000
OZANY HES2 S8R R 40,000
401 AIEHIX R0HH 25,000 20,000 5,000
01 A28l 25,000 20,000 5,000
O A NES2F =Xl2c 25,000
SAMAEXEHE 2 664,323 451,380 212,943
307 212+01& 664,323 451,380 212,943
05 2ItRIE = 664,323 451,380 212,943
OZAIHMEXIZHE 2 664,323
( Jelbalal 448,066
=gl 166,257
@ AHEH| 50,000
SAIHE OtOIDl € XIEHdE 29 47,667 34,000 13,667
< 14,295
Al 33,372
307 glztol & 47,667 34,000 13,667
= 14,295
Al 33,372
02 2IZHBHAIHE & 47,667 34,000 13,667
OZAITHA OFJLEIO0l & XI3HH 29 47,667
= 14,295
Al 33,372
S0IE3H| 2823 29 10,000 10,000 0
201 fer=3| 4,000 4,000
01 AtR2tc|Hl 4,000 4,000
O«0IEEH 2i2gols 24 4,000
301 LEIE NS 6,000 6,000
11 dALEEIXIZE S 6,000 6,000
O«0IEgHl 22Eolq 2 6,000
FHAXNA WE(ZAN(E=ES MEDHE) 1,320,400 1,327,000 26,600
= 924,000
< 118,300
Al 278,100
201 er23| 4,060 4,060 0
= 2,842
== 365




A ZAIEHI D
M N DAY
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 853
01 AtR2t2|HI 3,270 3,270 0
OE:-Es MS0tE Z8AE 3,270
[ 2,289
= 2%
Al 687
02 S3=gHl 790 790 0
OE:-Es ME0tE ZgAE 790
[ 553
= Il
Al 166
202 048l 1,050 1,050 0
[ 1,000
== 50
01 =LHOHI 1,050 1,080 0
OSAITHM AT ASt S 1,050
[ 1,000
S 50
307 elztol & 190,000 190,000 0
= 35,000
< 4,500
Al 150,500
02 2B HAHE L 50,000 50,000 0
OEL&= ME0te gAY 50,000
s 35,000
s 4,500
Al 10,500
05 2ItRIE = 140,000 140,000 0
O EXAHE C1HHl & 2| 140,000
401 Al HIZ 2018 1,125,290 1,131,890 26,600
= 885,158
[ 113,385
Al 126,747
01 Al&HI 1,122,580 1,129,180 26,600
OELE= ME0tE gAY 1,122,580
= 883,398
== 113,145
Al 126,037
03 Al 20HHI 2,710 2,710 0
OE:ES ME0tE Z8AMY 2,710
= 1,760
== 240
Al 710




A ZAIEHI D
T FON TATHY
SRl AT JlgtEl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FHAXA HE(ZAN(SSS ME0HS) 971,400 1,091,000 A119,600
= 680,000
== 87,400
Al 204,000
201 =3 2,800 2,800 0
= 1,960
=S 252
Al 588
01 At 22|l 2,800 2,800 0
oSS ME0S ZEAML 2,800
[ 1,960
= 252
Al 588
202 04| 2,000 2,000 0
[ 1,400
= 180
Al 420
01 2L AL 2,000 2,000 0
OFANY &K A S 2,000
[ 1,400
= 180
Al 420
307 gl2to| & 211,000 150,000 61,000
[ 35,700
= 4,590
Al 170,710
02 2B YA E X 51,000 0 51,000
os2E ME0E gAML 51,000
= 35,700
= 4,590
Al 10,710
05 2I2tRIE S 160,000 150,000 10,000
OB XY 2124 S 2| 160,000
401 Al HIZ S 0HbI 755,600 926,200 A170,600
[ 640,940
= 82,378
Al 32,282
01 Al&H| 752,600 923,200 A170,600
Seets ME0IE =dAE 752,600
[ 638,840
< 82,108
Al 31,652
03 AIZ2THYI 3,000 3,000 0
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2A:

S AIZEHI

M N DAY
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 150,000 150,000
01 Al&H| 150,000 150,000
OQZEHE ZAIMY A XA
+8 89 150,000
BIEEHIALY 220,000 280,000 60,000
=S 66,000
Al 154,000
401 AIEHIZ SR OHYI 220,000 280,000 60,000
< 66,000
Al 154,000
01 Al&HI 220,000 280,000 260,000
OBIEIHIAI 220,000
= 66,000
Al 154,000
vy 2SS 29 30,000 30,000 0
201 fer23y| 30,000 30,000
01 AtR2t2|HI 30,000 30,000
oy 2HE 24 30,000
BIE O & 500,000 0 500,000
401 AIEHIZ SR OHYI 500,000 500,000
01 Al&HI 500,000 500,000
OEX(BE EEHHY 55 500,000
2= gAY WA 3,375,500 273,000 3,102,500
= 1,485,000
== 248,000
Al 1,642,500
201 =3 3,000 0 3,000
= 1,800
= 300
Al 900
01 AtR2tc|HI 3,000 0 3,000
OZ=s LTSS HAAS 3,000
[ 1,800
= 300
Al 900
307 @I2to1 & 450,000 273,000 177,000
[ 270,000
= 45,000
Al 135,000
02 2B YA R E £ 200,000 0 200,000
oZ=ss UL TY HAAY 200,000
[ 120,000
= 20,000
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2A:

SAIEHIDt

KZH: EO|X T A|XHAY
CH9l: CAIRAEA LR
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 AtR2telbl 24,000 24,000 0
S3tel, Z& ANE=E =Rl 24,000
02 2324l 17,000 15,000 2,000
OSsatel, 2 Ald= 72 17,000
206 =4I 3,000 3,000
01 XH=4l 3,000 3,000
OS3tiel, 23 AME=s Rl 3,000
401 Al HIZL S 0HYI 250,000 250,000
01 Al&H| 250,000 250,000
OS3atHel, Z2& Ad=E =R 250,000
ROtsZ 243t A 76,046 103,016 N26,970
201 L2 13,116 13,116 0
02 S3=4gl 13,116 13,116 0
OHOI=Z 43t At 13,116
307 212+01™ 62,930 89,900 N26,970
02 QA HAIEE X 62,930 89,900 N26,970
OHOtsZ 43 HAA 6,000
O0=gH Hot=Z! 5,830
oxX0t=2 =2=t2 el 16,000
OXit=Z o3 10,000
02023 HOtsZ S2 SHHAEIE 9,100
©2023 HotsZ 'FA0 16,000
OlEss 8 EYE T4 L ZH(HEAIY) 500,000 500,000
401 Al HIZL 201 500,000 500,000
01 Al=H| 500,000 500,000
Ooltss+ =3 522 =4 % &4l 500,000
A0 SEINEAS 300,000 300,000
401 AlEHIZ 2018 300,000 300,000
01 AlZHI 300,000 300,000
O" X0 SF IS A 300,000
Y2 AHI(TAIZEHI D) 57,264 228,870 A171,606
JI2ZHI(= A& D 57,264 51,072 6,192
JI23HI(ZAIEYI D) 57,264 51,072 6,192
201 LBt 34,584 30,912 3,672
01 AtR2telbl 34,584 30,912 3,672
OEt==ZH| 19,800
o=l 14,784
202 044l 18,480 15,960 2,520
01 =LHOALI 18,480 15,960 2,520
OJlzgRFa0] 18,480
203 SR =L 4,200 4,200 0
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SA - Z3F - SRA(E) - HRAEY

P

Ofl &F2H

MEE
Ofl &k2h

350,000 123

4,200
4,200

4,200




